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ADMISSION TEST-2012 FOR FIRST YEAR GEOGRAPHY (HONS) CLASS
June 14, 2012

Time: 09.00 am to 11.00 am Full Marks: 100
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Group A : Compulsory Questions

1. On the given outline map (=i =5t ) of India, mark , shade and name the following(f5f&® 1,01
e AR FW TE): 5x2 =10
a. Logtak Lake b. Sabarmati River (7 )

c. A Sugarcane producing region (¥ BesiWg o) d. Telengana Plateau (¥=gi)

e. Two Oil Refineries (¢%=1 tiei) - one at Malabar Coast (¥*13=1) and one at Coromandal Coast
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2. Practical Geography: '
a) Draw suitable diagram (=& @ ) with the following data and interpret ( Rt 4 ) 5
‘calirse | 49504954 | 19981999
Net sown area (SRR M) 40% 46%;
Fallow land (*f®® &% ) 10% 8%
Cultivable land (JRwary &3 ) 8% 5%
Land not available for cultivation (%3 &fi ) 17% 14%
Pastures and tree crops (*F7 € b %) 9% 5%
Forests (37gf¥ ) 16% 22%

b) In a topographical map (Bl WFHGE) the length (21 ) of a river is 31.5cm. The actual length of the
river is 15.75 km. Calculate the R.F. of the topographical map and draw a linear scale ( (3% t3=) 5

[ Group B: Tick the Correct Option (V) or Fill in the Blanks _(Answer any Twenty): 20 x2= 40|

1. Normal Lapse Rate of Temperature (F1®1R% ©I*ig 214 ) in Troposphere is

2. The colour of Biotite Mica is - White / Black / Brown.
3. Relative Humidity (Sixifés @it ) is expressed (231 ¥ =0 ) in Gram / Percentage / Degree.
4. Millet — seed sands is a feature (@ ) of glacier / river / wind action.
5. The Government Organisation (@@ %% ) that provides telecommunication service (GfEmaricant
3% ) within India is VSNL / TRAI / BSNL.
6. The MOHO Discontinuity (R§{%) lies between
7. Which of the following points (f¥%) does not lie on the line y = 3x+47
a.(1,7) b. (2,10) c. (-1,1) d. (4,12)
8. If the direction (& ) of the Earth’s rotation (W@%5 ) on its axis (%7%) becomes east to west, then the

and

Trade wind (W% 3t 94T 31) in Southern hemisphere (A%< tieT) will blow from - Southwest /
Northeast / Southeast / Northwest direction.
9. The direct distance(¥#%) in km between places, 60°N 90°E and 40°S 90°E is 11100 /11000 /11200.
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11. Removal of the foothills forests (AR g (@) - decreases / increases sheet flow (6. 2@ ,
erosion (®%%), and sediment inputs (SRTFi) into the streams.

12. Two Nitrogen Fixing (7e&3%¥) Bacteria are ; and

13. + green = yellow + = white —violet = +blue= ______.

14. Reversal of ‘Terrestrial Magnetic Polarity’ can be explained by rule of
Electromagnetism.

15. A boy walking at a speed ( &) of 10km / hr, reaches his school 15 minutes late. Next time he
increases his speed (s are®) by 2 km/ hr; but still he is late by 5 minutes. The distance (78%)
of his school from the house is

16. 2+ V2 + 1/2N2 +1N2-2 =

17. The equation (3iR%=<) of the solar constant ( FTRgT) is

18. If (x-a) is a factor of x* -ax + x + 2, thena =
19. If density( 9g) of air is 1.26 kg /m?, the mass (%2 ) ofairin aroom of 10m x 12m x 6m is

20. With sun at 45° above the horizon( #18) |, length of the shadow (@@ R@® ) cast by a 30 m long

vertical pillar (To1% &%) will be _
21.1fthe 7 Sin? 8 + 3 Cos 20 =4, then 6 = ;
22. Dawn , 6.00 am, ( 2gr@) at Kolkata (88° 30'E) corresponds to the Twilight,6.00 pm (vteg=t )

at longitude.
23. The velocity of diurnal motion (=if&s =) is on the equator (R4 )
24. Foehn / Mistral /Chinook is a warm and dry wind (%% ¢ &% 37 )
25. ICRISAT is situated (eRf¥®) at
26. Abhujmaria tribe (B==f®) resides (37 ) at .while Onge tribe at
27. In northern hemisphere highest percentége of population (Hif&F e=pie) live within latitude
0° to 20°/ 20° to 40° / 40° to 60° / 60° to BO®.
28. Square/Circular/L-shaped village form (=gf%) can not be regarded as nucleated (wettBia= )

29. Boleadoras is a type (2R ) of rope / crop / dress.
30. Block Spade (330*1%) is associated with - physical weathering / chemical weathering / glacier.

[ Group - C: Short answer type question 10x4 = 40
1. Compulsory Question (To be answered in English only) 10
“Field studies constitute an importeffit part of Geography” —— Explain.
2. Answer any 3 ( three) questions from the following - 3x10 =30

A. What do you mean by the ‘Holistic Concept’ (A= 4=l of Human Resource (R %) ?
B. What should be the appropriate strategies (Fge 33%) for forest conservation (es®e) in India?

C. How the theory of Plate tectonics (Aro7eER &g ) explain the origin of fold mountain system (@

e G ) of the world?
D. The moon describes a circular orbit of radius 3.8 x 10° km about the earth in 27 days and the earth

describes a circular orbit of radius 1.5 * 108 km round the sun in 365 days. Find the ratio (SFir®) 39

the mass (9 ) of the sun to that of the earth.
E. The focal length of the objective of an astronomical telescope is 100 cm and its diameter is 5 cm. If the
focal length of the eye piece is 20 cm, find
i) Magnifying power in normal adjustment
i) The separation of two lenses

. iii) The diameter of the eye piece
F. Discuss the changes in composition (s1&=1® #f&$+ ) of foreign trade (Cawaf*re 0 ) in India in

recent years. -
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